I1K26+00.00 I1K27+00.00

~ £ & S = 3~ ﬂ‘ E g‘ 3~
o= o = = RANA o AN
o o)) N o o — —
i
9 1:10Bm6oBMObGsmEo 9 1:10Bm6O0BMbGsmEo
3 1:100 39603 035¢mw9M0 3 1:100 3960 35¢M0
39 3o 30 3o
oY : 350 350, oY : 350 350, 0
'§g jomeo, %n R L;oaf?)da ufl.},&é’, ‘2, yav) v?,, yavj \l:n &Y, &g OZ, '§g jomeo, %n . L;oaf?)d:] u6.:,0%'5’, ‘2, Lv,v:m L\I,\l:n 665 O%n
€3 £ 3
D (s (a8 © ~ D [¥a) — — O
2E Lxondom 60360 3 SIS S SIS 5% e 606 70 = 5@
33 > Jjom 0doyo o o = =N o =N 33 O m:]j(bm 000YMO O. o o o o o
c [¢] o ‘\_1- [~ c [¢] i N
l?j;gz 8060l 60869ymo 8. o o o l?_)f(gz 3080l 60360 3. g g g
2R 2R
EE dsbdogmo 3. 6.00 6.00 EE dsbdomo 3. 6.00 6.00
[1K26+50.00 [1K27+50.00
© © M © s
o™~ 9 o N =+ 3 4] =+ &
58 3 5 R s 5 = 5 5
S 77 ] 04 /
9 1:10Bm6&H0DmbEswmeo 9 1:10Bm6G0bmbEswmemo
d 1:100 3960350 M0 d 1:100 3960350060
€ < € < q
55 et bogs MDA D s W b e IPLEOORED, 58 Lbeto & . bogtids kTSR 7 M | V77 WU 1T T
£3 | I 1 £3 ! : o
w (=) o - o o o} = - ‘-N - =
2 cg Le3E3engjnm 60361mmo 3. n hy o m n 2 cg Ls33engjnm 60361mmo 3. > o iy R >
[e} o~ m [y [e} 3 =)
c .5 m m M ¢ 0 < ~ 3
Lsg)(g 8060l 608690 3. o i o L‘fgrg 9080l 6086y 8. o n o
c [PAes)
_‘/%8 3564 3 6.00 6.00 _‘ong 3564 3 6.00 6.00
g)cg sbdomo 3. g)cg sbdomo 3.
0)5653R35M3S bﬂg’a(’)?{]ﬁbx I 33500
: : 4 356B30R0L 3960CG035R0BIBOL MBI MEMKOOLS VS LMBIV
R06335MB0 [ - f_»/;,,]j/ /| 6. 39859 65X5b53ML R58353F0RIBIN0 3HBOL LO3OR0O 6STVOROL
Kd. 9BaMLO ; e 9. X06X0bSII ®3330R0BSG0S
3@. 33B8ME0 | . A 9. RO6X0bLSII 85L3BSB0 | BIGGIRO BIBGGRI0

255808585 § 3900 0do| 8. 30=630090
9580998

1: 100 69 85

@ s e

. B3L ,,LO85BMRI>BHN30
365ROBOLS KRS
I3L3IBB0BOL BI6B @0




I1K28+00.00 I1K29+00.00

93,93
94,00
93,95

Nsss

I93,93

93,43
93,51

L\ 93,46

93,46
93,43

9 1:10Bm&H0bmbEswmmeo 9 1:10Bm®0bmbEswmmeo
8 1:100 3963035060 3 1:100 39030350960

ro
o
2N
g
A
o
S

05108, 3h: e 0S8

°
e
ay
U
°
o\

Jobdo, %, Logfidy uﬁ-l.ogé.g % Jobmdo, %, Logfidy

93.09
93.14
93.14
93.09
93.59
93.63
93.63
93.59

Lo33ngjnm 60861mo 3. Lo33mng i 6036mmo 3.

93.43 93.19
93.88/ 93.68

93.43
9343
9383
93.92

doBol 6036ymo 3. 9060l 6036ymo 3.

6.00 6.00

935]509690 | Le3EAmajnm
9653379900 3mboEgdgdo

90]09600  Le3Ermajihm
965399900 3mbsgdgdo

dsbdogmo 3. 9s6dogmo 3.

ITK28+50.00 I1K29+50.00

93,94
93,93
§34
93 88
3.65
93,84
83,83
93 81

i
N
Dﬁisé

l 93,96
93,87
93,88

93,81

N[EYS

N93,65
B
‘\ l 93,91

|
I

9 1:10Bm&H0bmbEswmeo 9 1:10BmO0bmbEswmmeo
d 1:100 3960350 M0 8 1:100 396 ¢035¢0Mo

0.44

)
Fo
o

Po
YR
-

%8% 0.81 0.0 )1560,/

o

JoBmdo, %, Logfidy JoBmdo, %, Logfidy 242

935
93.56
935

9362
9361
935

93.58
935

9347
(R
935

9352
93.51
§34i

Le3iengjnm 60361ymo 3. Le3t3mmgjhon 6036mmo 3.

o

RKRn

N

=2

e

: NO

93.7% 93.56%

93.86 93.64

93.85
93.87
93.72
93.81

doBol 603bymo 3. 9060l 6odbymo 3.

6.00 6.00

930]09670 | Le3EAmajem
9653379900 3mbs3389d0

] H09600 | Le3EAmyjem
9mbs379900 3mbaoEgdgdo

dsbdogmo 3. 9s6dogmo 3.

0)5653R35MdS bamamvamx f 33500
. : 4 358330R0L 9360CG035R0BIBOL LEIBIR MEMIROOLS RS LMBIV
R0&IISME0 [ - f»/;,,]j/ /| 6. 398533 65X 56530 Rd85353F0AIBIN0 3HOL LOZSRO 65FVOROL

Xd. I80MLO g 9. X06X0bSII ®3530=R0B35G0S

e
3@. 33B8ME0 | . 9. X06X06539 35LBSB0 | BIGGINO BIBGGRIO

255808585 § 3900 0do| 8. 30=630090
9580998

1: 100 70 85

@ s e

. B3L ,,LO85BMRI>BHN30
365ROBOLS KRS
I3L3IBB0BOL BI6B @0




9 1:10Bm&GHO0BMObGsmEo

@ 1:100 3963035060

[TK31+00.00

94,22
9% 29
9% 24

I94 22

L \ 94,24

ITK30+00.00
® = = -
o o m
23 3 3w
 / L
9 1:10Bm&OH0BMOEGsEmeo
d 1:100 3963035060
€3
BE  P6mdo, % , Logdg S0z deos,
£ o
€3 2 = & 3
3 cg Lo gjnm 60869mo 3. hy o o o
[ =) -y
g o S =
L;Ej(g 3080l 603670 3. o = 3
PARes)
33
g)rg dsbdogmo 3.
ITK30+50.00
~338E 3 A 1R T 93
DEE-LS & GG -k
o~ _— ——
[ 1 4 1/
9 1:10Bm60bmbEswmeo
d 1:100 396303560
£c ) ]
8E  Pbeodo, %, Logdy sob R s P4 840,
€3 e ow = S e woo e
BE  Le3Bmyinem 60360 3. & &4 & £ & & g &4
[e} ~—
C 5 § m
L‘fgrg 3080l 603670 3. y = 3
c »
323
gf)(g ds6domo 3.

£3
8&  gbeodo, % , Logdy Sl fphs, oy, ofy— 0600aloy
€ o
€3 3 & N & 3
g £ Ls3Bmynm BoBEymo 8. x xR x A &
¢ = o
€ 0 < - <
L;g(g 8080l 6086ymoe 8. & 3 3
PR}
33
&e ds6dogmo 3. 6.00 6.00
©
[TK31+50.00
mo O O (=) N (=) [=A N =N \PON
pAR — o
(/1A A GV
9 1:10Bm60bmbEswmeo
d 1:100 396303560
&5 A K 0.300.0
8L $b6mdo, % , Logdy Ol 200, Mh0n  Mhvn vy O3000RESys
€3 [
2 £ Le3Bmygnm BoBEymo 8. AN A A A x X PANATIA
s 4 P g
L;E—,(g 8060l 60369 8. o ™ o
Pt
33
&L 856domo 8. 6.00 6.00

0)5653R35MdS bamamva«s?x !

Xd. IB6ML0O

ROBIIBMB0 | - ,'? /}T/”_, 6. 339%2530
s 9. X06X0653D

358330R0L 9360CG035R0BIBOL LEIBIR MEMIROOLS RS LMBIV
65X 56530 Rd85353F0AIBIN0 3HOL LOZSRO 65FVOROL
®3530R0B5G0S

36@. S3BMA0 | -

s

3. R06X0653I

255808585 § 3900 0do| 8. 30=630090

FI53MYV3S

85L3BSB0 | BIGGIRO BIGGRIBO

1: 100 71 85

@ s e

. B3L ,,LO85BMRI>BHN30
365ROBOLS KRS
I3L3IBB0BOL BI6B @0




93,75

ITK32+00.00

93,82

93,71
93,75

0 1:10BmGO0BMbEH oMo
3 1:100 390303500960

\\ \ 93,71

56d0, % , Logfd
3tM0)

ge

fo

Lo3myjpon 60d6ymo 3.

93.41

93.41 %

93.4

doBol 6036ymo 3.

936
93.64

93.70 93.50

93,37

09JH0650 | L3 MyJEm
9765379900 dmBoEqdqd0

dsbdogmo 3.

93,80

93,81
93,82

93,85

I1K32+50.00

93,87

93,85

9 1:10Bm&OH0bMbEswmmeo
3 1:100 396& 03560

93,61

N

Jo6mdo, %, Logfdy

o
[emwry

o

R=W

Ls3I ™My jn 6od6ymo 3.

93.4
93.4

93.4

dobol 60dbymo J.

93.78

93.82 935

93.86

dsbdogmo 3.

9509690 | Le3Ermajehm
9mb5399900 3mbsEqdqd0

6.00

ITK33+00.00

94,43

94,36
94,38
94,33

0 1:10BmGO0BMb oo
3 1:100 39M&035¢0960

L 94,38

56md0, % , Logfd
3010)

o
Sao
=
o
~
©

Lo3ngjnm 60861mo 3.

doBol 6036ymo 3.

94.02
94.0
94.0
94.02

9441

94.39 9411
94,37

dsbdogmo 3.

90]09600  Ls3EAmyJem
906539900 dmBaoEgdgdo

ITK33+50.00

4,52
9%,69
94,70
9%, 74
94,77
94,74
94,72
94,70
94,69

04,52

9 1:10Bm&H0bmb oo
3 1:100 396&035¢0 M0

N 9472

N
|
V

Jo6mdo, %, Logfdy

[=)
(=]
o
=
<
o
"\l
o
Y

°
=

Ls3mgjnm 6o3bymo 3.

94.3
94.3%F
9.4
94.42
94.42
9L 4
94.3%7
94.3

dobol 603bymo J.

94 M

94.69 9L.L4

9/,

dsbdogmo 3.

90109600 | Le3Ermajhm
965399900 3mbsEqdgd0

6.00 6.00

0)5653R35MdS bamamva«s?x f

33500

6. 8393R53I

ROBIIBMB0 | - ,_LJ;/}T/”_,
%d. DBGOL0 .

3. X06X0b6599

358330R0L 9360CG035R0BIBOL LEIBIR MEMIROOLS RS LMBIV
65X 56530 Rd85353F0AIBIN0 3HOL LOZSRO 65FVOROL
®3530R0B5G0S

s

36@. S3BMA0 | -

3. R06X0653I

R55803385 R A90bondn

3. 396300393

FI53MYV3S

85L3BSB0 | BIGGIRO BIGGRIBO

1: 100 72 85

@ s e

. B3L ,,LO85BMRI>BHN30
365ROBOLS KRS
I3L3IBB0BOL BI6B @0




ITK34+00.00

95,02
95,09

95,04
95,01

L 95,04

9 1:10Bm&0bmbEswmeo
d 1:100 396¢035¢0M0

a
g\

4s6mdo, %, Logdy LTW

u

94.67F
94.72

Ls3mgjnm 6o3bymo 3.

94.72
9L.6%F

95.03 94.77

95.05

doBol 603bymo 3.

95 01
0

6.00

9]0 | Le3EAmy e
9mbs(379900 3mbaoggdgdo

dsbdogmo 3.

ITK35+00.00

95,28
95,36

95,31
95,28

L \ 95,31

9 1:10Bm&H0bmbEswmeo
d1:100 3963035060

&
o

o\

56md0, % , Logfd uﬁJ,O%&,g %
3tMa)

94.91
94.9

Ls3mgjnm 6o8bymo 3.

94914

95.26/ 95.04

95 21,

doBol 6036ymo 3.

oA

95 29
>

dsbdogmo 3.

900]09690 | Le3Ermajnm
9mbs(379900 3mboggdgdo

ITK 34+50.00
3 1:10Bm6H0BMbEsEmGo 9 o = " Ly
[¥a] A ~ ~ N Tl
d 1:100 39630 35¢0M0 S A N EX NN
(/1A | 4 N
53 : 038 389 389 :
"gcg joSmbn, % A anf?)d:] O ,\n» L Us, [AVR AT FAVRVES 6 :0{=
€ »
€3 S = 2 e > = 3
g (g L33 6036mmo 3. A AR K EAN A
C - o [e0
el 3 = m
lg_)@ 8080l 608690 8. ¢ o o
Pt
=23
g)(g ds6domo 3. 6.00
0)5653R35M3S bﬂga(’)vaﬁbx f 33500
1 : 4 356B30R0L 3960CG035R0BIBOL MBI MEMKOOLS VS LMBIV
R06335MB0 [ - "F/;'?/"]W/ /| 6- 833539 65X5b53ML R58353F0RIBIN0 3HBOL LO3OR0O 6STVOROL
Xd. IBHMLO ; > 3. XO6X0b5II BISB0R0B5G0S
36. S3BME0 | - 3 9. X06X0b53D BSLTBSB0 | BIGGIR0 | BIBGRIB0
R5993IY535 R Ay !) | 3. 302630030
b BI0Banoq = 1: 100 73 85
FISIMV3S

A

B3L ,,LO85BMRI>BHN30
365ROBOLS KRS

I3L3IBB0BOL BI6B @0




[TK36+50.00

TTIK35+50.00
3 1:10Bm®H0BMb Q) - @A 3 A s 3 1:10BmOH0DM™b Q) 2z E = ®
: MO0 OMOE OO0 N A n ol 9 ol AR B : MO0 OMOE MO0 T w g
d 1:100 39603560 NS o o o &R d 1:100 3960350060 N AT e
(V1A L AL LN I
&5 02525 930, 128, 13s 3. 323. 930000 &5 5005 242 09, 343, 002000001
'\gcg joSmbo, % s l_;oaf?)d:] T 50,0%20,0% 200% 20,0% 200% 40,04, 665,02, '!8@ joSmbo, % s anf?)d:] 8.}4,7“»\1 % 20,0% 9.9% 20,0% : b6 ,8{@
B & Lsammyiem Bodbymo 8. S 2 N g A O B & Lsammyiem Bodbymo 8. o 9 7y 9 N
e 5 % 3 % e 5 5 3 %
L;E_)(g’ 8060l 6086 8. U 0 o L;E_)(g’ 8080l 603690 8.y o3 i
33 33
D D
L 6.00 6.00 e 6.00 6.00
8)(% dsbdogmo 3. 8)(% dsbdogmo 3.
TIK37+00.00
TTIK36+00.00
8 1:10Bm60bmE & g 2 - B 3 8 1:10Bm60b®E & s A I
é 86 Oﬁ)m @‘5@‘3@0 8 g 9 g g 8 ((;6 Oﬁ)m @5@‘3@0 g9 i = °
1:1 035 0 c_= i 1:1 035 0
306035 306035y y
&3 c 250 250 0.60 85 &8 c 250 250 0.60 45
'§g jomeo, %, ) L;oaf?)da ufu,&'h? % Lv,v:m 20,0% 66 ,OZ, '§g jomeo, % ) L;oaf?)d:] u6.:,0%'5’, % L\I,V:n 2000% : 665,0%
€3 £9
€ 3 a M Y 2 a € 3 P g 5 g P
g £ Le3Bmyinm 6od67mo 8. oy oy A i oy g £ Le3Bmyinm Bod67mo 8. oy w « « oy
c . 2 & 3 s c.9 2 .y iy
L;Ej(g 8060l 60360 8. 4 noow o L;Ej(g 8060l 60360 8. 4 o o
c c
1,%_.; 856domo 8 6.00 0.77 5.23 1,%_.; 356domo 8 6.00 6.00
(SRS o C. (SRS o C.
0)5659R33MdS bﬂg’a(’)?ﬂﬁbx I 33500
3 : 4 8563300 3360G035R0BIBOL MBI MEMKIO0LS RS MBI
R0BIIBMEO | - f_»/},,]j/ /| 6. 893533 6XIBII R8S353TF0@IBIR0 dBOL LO3SRO 65FOROL
Kd. 9BaMLO ; e 9. X06X0bSII ®3330R0BSG0S
3@. 33B8ME0 | . A 9. RO6X0bLSII 85L3BSB0 | BIGGIRO BIBGGRI0

255808585 § 3900 0do| 8. 30=630090
9580998

1: 100 74 85

@ s e

. B3L ,,LO85BMRI>BHN30
365ROBOLS KRS
I3L3IBB0BOL BI6B @0




ITK37+50.00 ITK38+50.00

96,70
96,74
96,35

06,41

96,71
; !8?;39
96,58

95,80

F
V8452

9 1:10Bm6OH0BMbGsmeo
d 1:100 3963035060

9 1:10Bm&OH0BMbGsemeo
d 1:100 3963 035mMo

95,52

t 95,84
5
5
95,91
95,91
95,86

Ifbs,  3d0n 0P 0%

o
=
7
Qo8
o
No—
R0
NN
oo
Ls
D
=
CES
~
N
Ro

O
o
N
(=]
=
S
=~
o
o
N
~
g\

=
g\

JoBmdo, %, Logfdy gu Vs JoBmdo, %, Logfady T3TBEL2

95.50
5.
5.

95,5

96.33

96.35

96.38

96.39

96.38

96.37

96.33

Lo33ngjnm 60861mo 3. Loy jnm 60369mo 3.

96.55

[
95.8
95.85
qgtg g(
96.4

doBol 6o3bymo 3. 060l 6odbymo 3.

9]09690 | Le3EAmaJhm

6.00 6.00

dsbdogmo 3. ds6dogmo 3.

9]09600 | Le3EAmaJem
965399900 dmBsgdgdo

ITK39+00.00

ITK38+00.00

96,98
96,93
96,91

96,39
96,34

I% 31
\\ l 96,93

9 1:10B60%MbEs@w6m0 A A A A v V. i o AV 9 1:10B™60BMbEs@w60
d 1:100 3963035060 d 1:100 3963035060

ro
o
=
S
AN
’=)
ae
ro
o
=
g
U
oS
o\

JoBmdo, %, Logfdy 86%,0%&,9 % %\':5,835 gu's,gia Jo6md0, %, Logfdy 85%.0%&.; % %u’s,gia gvrs,gia

95.97
96.02
96.02
95.97
96.57
96.61
96.57

Le3ingjnm 6036ymo 3. Le3tingjnm 6036ymo 3.

96.26  96.07

96.30
96.87 96.66
96.91

N
3060l 603bymo 3. ;

96.21

doBol 6036ymo 3.

o]0 650 | Le3Ermajnm

dsbdogmo 3. dsbdogmo 3.

o]0 | Le3Ermajnm
9mbs(379900 3mbasEgdqdo

0)5653R35MdS bamamvamx f 33500
. : 4 358330R0L 9360CG035R0BIBOL LEIBIR MEMIROOLS RS LMBIV
R0&IISME0 [ - f»/;,,]j/ /| 6. 398533 65X 56530 Rd85353F0AIBIN0 3HOL LOZSRO 65FVOROL

Xd. I80MLO g 9. X06X0bSII ®3530=R0B35G0S

e
3@. 33B8ME0 | . 9. X06X06539 35LBSB0 | BIGGINO BIBGGRIO

255808585 § 3900 0do| 8. 30=630090
9580998

1: 100 75 85

@ s e

. B3L ,,LO85BMRI>BHN30
365ROBOLS KRS
I3L3IBB0BOL BI6B @0




96,95

ITK39+50.00

| 4302
8639

96,91

0 1:10Bm®0BMbEH Mo
d 1:100 3963035 Mo

Jo6mdo, %, Logidy

0.4,

NGO
>
ey}
d
N
K
vy}
o0

(o))
-~
e

9\

Lo33mnjnon 60369mo 3.

96.61

36:68

96.61

doBol 603bymo 3.

964 89
5.6

96.94 82%8

97.00

9s6dogmo 3.

935]09670 | Le3EAmajem
965(379900 3mbsE3gd0

9 1:10Bm&H0bmbEswmmeo
d 1:100 3963035 Mo

97,03

Wlonos

I1K40+00.00

97,10
97,05

91,03

56nd0, % , Logfd
3]

g
[e))
v
=

o

°
g\

=

LS3Mjhn 6od6ymo 3.

96.6

96.73

96.73

96.69

9693
6+

3060l 6036ymo 3.

96.99 96.78

97.05

9s6dogmo 3.

0350960 Le3Ermgjpm
9653379900 dmbsgdd0

6.00

ITK40+50.00

8,04

97,01
97,02

353

0 1:10BmGO0BMbEH Mo
3 1:100 390303500960

N

o
g
RO
Yo
K

°
°

JoBmd0, %, Logidy

N

96.62
96.65
96.69
96.70

Lo3my i 60d6mmo 3.

96.64L— 82

96.62

96.92 86.12

96.8

dobol 60dbymo J.

97.00

dsbdomo 3.

30JH0690  Le3FRmyJem
9765379900 3mBoggdqdo

I1K41+00.00

96,32
\ 96,34
96,39

96,34
I96,32

9 1:10Bm&H0bmbEswmeo
3 1:100 3960303500960

o

JoBmdo, %, Logfidy u5-1,0%6),c %

°
g\

95.98
96.02

L3 ™Mjn 6odbymo 3.

96.02
95.98

96.12. 96.07

=
C.
N
I

doBol 6036ymo 3.

96.20

dsbdogmo 3.

2009690 | Le3EAmaJhm
9mb5379900 3mbsEqdqd0

0)5653R35MdS bamamva«s?x ! 33500

ROBIIBMB0 | - ,'? /}T/”_, 6. 339%2530

: i 3. X06X0b6599

Xd. IB6ML0O

358330R0L 9360CG035R0BIBOL LEIBIR MEMIROOLS RS LMBIV
65X 56530 Rd85353F0AIBIN0 3HOL LOZSRO 65FVOROL
®3530R0B5G0S

36@. S3BMA0 | - 3. R06X0653I

255808585 § 3900 0do| 8. 30=630090

FI53MYV3S

BIBCBIR0O BIGGRIBO

76 85

B3L ,,LO85BMRI>BHN30
365ROBOLS KRS

I3L3IBB0BOL BI6B @0




ITK41+50.00
9 1:10Bm&H0bmbEswmemo 2 < 9 ny =
8 1:100 396035060 e ey ) e A o
2 71K
&8
13:&? JoBmdo, %, Logfidy %'8,%‘; %M‘,‘; 30
()
¢ S 2 35
2 cg Ls36Bngjnen 60369mo 3. wn w TANITA
[} (=) [
¢ 0 - ~ N
LSE—K'Z 8060l 60360 3.y 0 u
Pl
23
gch dsbdogmo 3.
11K 42+00.00
— 2 —
© < © o
9 1:10Bm6oBmbGsmEo o A A
3 1:100 396&035¢ M0 —
£
?@ JoBedo, % , ogfidy % 269dsl0z,
5
€3 5 . ® g
g cg Le33engjnm 60361mo 3. n 0 0 wn
g8 < s 4
ngf.: 8080l 6036mo 3. W 0 0
g2
23
g')(g ds6domo 3.

9 1:10Bm&H0bmbEswmmemo

8 1:100 3963035060

95,63

ITK42+50.00

95,80
| 95 82
95,85
95,88
95,85

95,83
95,82
95,81
5,62

N 9583

L

56d0, % , Logfd
3010)

o
=

w
D
o

Lo33engjnm 60861mo 3.

95.4

95.4

95.51
95.53
95.53

95.51
95.49

doBol 6036ymo 3.

95.67

95.75 95.56

95, 81,

90]09600 | Le3Ermajhm
9065379900 3mbsgdgdo

dsbdogmo 3.

6.00

9 1:10Bm6~oBMbGsmEo

I1K43+00.00

95,96
96,04

95,99

d 1:100 39603500

H%?s?.ﬁ

Jo6mdo, %, Logfdy

0.4

Fo
o
—

v

R
°
o\

Ls3mgjnm 6odbymo 3.

95.62

95.67

95.67
95.62

doBol 603bymo J.

9596

96.04 95.72

96.13

] H09600 | Le3EAmyjem
965399900 3mBsEgdgdo

dsbdogmo 3.

0)5653R35MdS

bamamva«s?x f

33500

ROGIIBME0 [ -

6. 8393R53I

Xd. IB6ML0O

| L
Jpl

s

3. X06X0b6599

358330R0L 9360CG035R0BIBOL LEIBIR MEMIROOLS RS LMBIV

65X 56530 Rd85353F0AIBIN0 3HOL LOZSRO 65FVOROL
®3530R0B5G0S

36@. S3BMA0 |

3. R06X0653I

R553I853d

b &S-Obgmc;_-')

3. 396300393

FI53MYV3S

BIGGRIBO

85

B3L ,,LO85BMRI>BHN30
365ROBOLS KRS
I3L3IBB0BOL BI6B @0




I1K43+50.00 I1K44+50.00

98,18
L l 98,21
98,26
98,25
98,21
98,13

| 98,21

9/7,88

N

96.88
96,80

96,81
96,83
08,47

L \ 96,83

3 1:10Bm6H0BMbGsmeo 3 1:10Bm6~oBMbEsmGo
d 1:100 396303560 d 1:100 396 ¢035¢ M0

ND
=
°

%,5»8 0.60 0.

o0
H
g
s
o
o\
o
o
=)
)
o
°
[N
R
==

NS
o
oF

o
[Ny
[0
==
o
Fn
o
=~
=

o
g
o

N
Q
o
H

Y60

4o6mdo, %, Logfdy Jo6mdo, %, Logfdy

96.47F
96.51
96.51
96.47F
97.84

?

1
91.9
918
97.84

Le3ingjnm 6036ymo 3. Le3iengjnm 60361ymo 3.

96.69
96.77 96.5
96.85
98.11
98.17 97.94
98.22

doBol 6odbymo 3. doBol 6036ymo 3.

90]09600 | Le3Ermajhm
9mbs(379900 3mbaoEgdgdo

ds6domo 3. ds6domo 3.

o]0 | Le3Ermajnm
9mbs(379900 3mBbaoEgdqdo

ITK45+00.00

98,88

I1K44+00.00

98,81
98,83
I98,8‘I

L \ 98,83

91,58
91,53
91,51

9 1:10BmGoBMbGsmeo 9 1:10Bm6oBMObGsmEo
d 1:100 3963035060 8 1:100 3963035060

6o, %, Logfdy falo¥b0x 200

o
N

Jobmdo, %, Logfidy u6.;,0%'5’,(’

9717

91.21

91.21

97.1%

98.47

98.51
NN
RKXn
i

98.51
ro
Son

98.47 %
~

Lo3mngjnm 60861mo 3. Lo3ngjnm 60861mo 3.

Fh
9t.LT 9126

98.74 98.56

9751
98 68
98 80

doBol 6odbymo 3. doBol 603bymo 3.

a

] H09600 | Le3EAmyjem
965379900 3mBsEgdgdo

dsbdogmo 3. dsbdogmo 3.

9]09600 | Le3EAmaJem
965399900 dmBsgdgdo

0)5653R35MdS bamamvamx f 33500
. : 4 358330R0L 9360CG035R0BIBOL LEIBIR MEMIROOLS RS LMBIV
R0&IISME0 [ - f»/;,,]j/ /| 6. 398533 65X 56530 Rd85353F0AIBIN0 3HOL LOZSRO 65FVOROL

Xd. I80MLO g 9. X06X0bSII ®3530=R0B35G0S

s
3@. S3BMA0 | . 3. RO6X0bSII 35LBBSB0 | BAIBGGIRO BAGGRIB0

255808585 § 3900 0do| 8. 30=630090
9580998

1: 100 78 85

@ s e

. B3L ,,LO85BMRI>BHN30
365ROBOLS KRS
I3L3IBB0BOL BI6B @0




